Solution of HW 5
(1) Consider the polynomial for a standard LFSR given by:

FX)=x3+x +x*+1

Implemented:
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SET
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System of equations:
Xo(t+D] 1001 0 0 0 0 0 0[%0(®)]
XE+D| jo o010 0 0 0 ofXx1(®
X (t+1) 000 10 0 0 offX20)
X;c+Di_[0 0 0 0 1 0 0 0fXs(®)
X t+1D] lo oo o o 1 0 olx,
Xst+1D| [0 00 0 0 0 1 0]|X:(0
Xe(t+1) 0 00 0 0 0 0 1x.(0
X, (t + 1) 117 0 1 0 0 0 0 1 X, (t)]
(2)
CLK [X; Xg Xs X4 Xz X, X; Xo| Decimal
0 0 0 0 0 0 0 0 1 1
1 1 0 0 0 0O 0 O O 128
2 1 1. 0 0 0O 0 0 O 192
3 1 1 1 0 0 0 0 0 224
4 1 1 1 1 0 0 0 0 240
5 1 1 1 1 1 0 0 0 248
6 1 1 1 1 1 1 0 0 252
7 0 1 1 1 1 1 1 0 126
8 1 0 1 1 1 1 1 1 191




(3) Consider the polynomial for a modular LFSR given by:

FX)=x3+x+1

Implemented:
a Q @ Q
X° X'
System of equations:
Xo+D] 10 0 17|%X(®)
X, (t+1|= [1 0 1||Xx.(®)
X,(t+1) 0 1 olf{Xx,(t)
(4)
CLK | X, X; Xo| Decimal
0 0 0 1 1
1 0 1 O 2
2 1 0 0 4
3 0 1 1 3
4 1 1 0 6
5 1 1 1 7
6 1 0 1 5
7 0 0 1 1
8 0 1 o0 2




